Физика ОРМО 2014. Решения.

8 класс
[image: image1.wmf]5

0

1,2

65

10

a

м

b

см

p

Па

=

=

=

Задание №1

	
[image: image66.wmf]2

T

r



	
[image: image2.wmf]?

F

-




8,9 класс
Задание №3

	[image: image15.emf]5


101,20,65780 000 780 


                                        


: 780 


F


PFPS


S


FH


кН


ОтветFкН


=®=


=××==


=




5

101,20,65780 000 780 

                                         : 780 

F PFPS

S

FHкН

ОтветFкН








[image: image3.wmf]2

0

1

50

2

0,13

24

600

m

кг

Q

кДж

m

m

кг

кДж

C

кгК

кДж

кг

T

К

l

=

=

=

=

×

=

=



	
[image: image4.wmf]?

T

-




9,10 класс
[image: image16.emf](


)


10


2


12


0


0


0


0


0


0


33


33


()


2


()


2


2


2


1


2


2


2


24105010


600


20,13100,13101


1250


600307,69


0,130,13


 


QCmTT


m


Q


QQQ


m


CmTTQ


m


CmTCmTQ


m


QCmTCmT


QmCTCmT


mQ


CTT


CmCm


Q


TT


CCm


T


K


l


l


l


l


l


l


l


=×-


=


+=


×-+=


×-×+=


--×=-×


æö


-+=-××-


ç÷


èø


æö


+-=


ç÷


××


èø


+-=


×


××


=+-=


××××


=+-=


                                : 307,69


 


ОтветTK


=




 

10

2

12

0

0

0

0

0

0

33

33

()

2

()

2

2

2

1

2

2

2

24105010

600

20,13100,13101

1250

600307,69

0,130,13

 

QCmTT

m

Q

QQQ

m

CmTTQ

m

CmTCmTQ

m

QCmTCmT

QmCTCmT

mQ

CTT

CmCm

Q

TT

CCm

T

K

























































                                : 307,69   ОтветTK 

[image: image17.emf]1


r




1

r

[image: image18.emf]3


r




3

r

Задание №1
[image: image19.emf]2


r




2

r


	
[image: image5.wmf]1234

rrrrr

====



	[image: image20.emf]4


r




4

r


[image: image6.wmf]?

R

-




[image: image21.emf]1


r




1

r


[image: image22.emf]Эквивалентная


схема




Эквивалентная схема

[image: image23.emf]4


r




4

r

[image: image24.emf]2


r




2

r

[image: image25.emf]3


r




3

r

[image: image26.emf]l




l


[image: image7.wmf]23

2333

423423

1423

111112

2

3

22

1111253

335

3

                                      : 

5

r

r

rrrrrr

r

rrrrr

Rr

Rrrrrr

ОтветRr

=+=+=Þ=

=+=+=

=+=+=Þ=

=


10 класс
Задание №3

[image: image27.emf]0


l




0

l


	
[image: image8.wmf]12

,

1

TT

моль

n

=



	
[image: image9.wmf]24

?

()

A

TT

Tconst

-

=

=





[image: image10.wmf]2121

242113

111

231

11111111

23323233

2

111

233

233

()()

..,  

 1

 3

,  ,  

111

                         

AppVV

ткTTтоpVpV

pVRT

для

pVRT

для

pVTpVpVT

pVTpVpVT

pVT

ApVRT

pVT

=--

®==

=-

ì

í

=-

î

æö

æö

====Þ

ç÷

ç÷

èø

èø

æö

æö

æö

=--=-

ç÷

ç÷

ç÷

ç÷

èø

èø

èø

2

1

3

3

           : 1

T

ОтветART

T

æö

=-

ç÷

ç÷

èø


8,9,10 класс
[image: image28.emf]20


1


12


12201


12


2121


00


2121


0012


21


2112


21


, , 


, 


  :


1501235400


900 15 


13125036


                       


tll


tl


ll


tlt


tt


llll


tlttl


tttt


lltt


t


ll


ltlt


tt


Подставляячисленныезначения


t


смин


u


u


uuuu


=+


ì


í


=


î


===+


æö


=+-=


ç÷


èø


==


-


-


××


====


×-×


               : 15 


Ответtмин


=




20

1

12

12201

12

2121

00

2121

0012

21

2112

21

, , 

, 

  :

1501235400

900 15 

13125036

                       

tll

tl

ll

tlt

tt

llll

tlttl

tttt

lltt

t

ll

ltlt

tt

Подставляячисленныезначения

tсмин







































               : 15  Ответtмин 

[image: image29.emf]1


u


r




1





Задание №4

	[image: image30.emf]2


u


r




2





[image: image31.emf]2


T


r




2

T



[image: image32.emf]1


T


r




1

T



[image: image33.emf]1


r




1



[image: image34.emf]V




V

[image: image35.emf]V




V

[image: image36.emf]2


V




2 V


[image: image11.wmf]0

1

1

2

2

150

2

500

5

1300

l

м

t

мин

l

м

t

мин

l

м

=

=

=

=

=



	
[image: image12.wmf]?

t

-




8,9,10 класс
[image: image37.emf]2


V




2 V

Задание №2

	
[image: image13.wmf]3

1

3

,2

0,910

VV

кг

м

r

=×



	
[image: image14.wmf]2

?

r

-




[image: image38.emf]2


r




2



[image: image39.emf]r


¢¢




 

[image: image40.emf]r


¢




 

[image: image41.emf](


)


(


)


(


)


(


)


12


1122


1221


1221


12


21


21


21


21


2


                


          22


           2


                          


2


22


222


2


1,8


AA


TFmgTFmg


TgVVgTgVVg


TVgTVg


TT


VgVg


rrrr


rrrr


rrrr


rrrr


rrrr


rr


r


+=+=


¢¢¢


+=+×=×


¢¢¢


=-=-×


=


¢¢¢


-=-×


¢¢¢


-=-


¢¢¢¢


-=-


=


=


3


3


3


3


2


10


                                : 1,810 


кг


м


кг


Ответ


м


r


×


=×




   

   

12

1122

1221

1221

12

21

21

21

21

2

                

          22

           2

                          

2

22

222

2

1,8

AA

TFmgTFmg

TgVVgTgVVg

TVgTVg

TT

VgVg





















 











 





3

3

3

3 2

10

                                : 1,810 

кг

м

кг

Ответ

м







[image: image42.emf]12


12


2


PP


mgmg


rr


=


=


¢¢¢


=




12

12

2

PP

mgmg







 

[image: image43.png]


[image: image44.wmf]1

r

[image: image45.wmf]4

r

[image: image46.wmf]2

r

[image: image47.wmf]3

r

[image: image48.wmf]Эквивалентная

схема

[image: image49.wmf]5

101,20,65780 000 780 

                                        

: 780 

F

PFPS

S

FH

кН

ОтветFкН

=®=

=××==

=

[image: image50.wmf]20

1

12

12201

12

2121

00

2121

0012

21

2112

21

, , 

, 

  :

1501235400

900 15 

13125036

                       

tll

tl

ll

tlt

tt

llll

tlttl

tttt

lltt

t

ll

ltlt

tt

Подставляячисленныезначения

t

смин

u

u

uuuu

=+

ì

í

=

î

===+

æö

=+-=

ç÷

èø

==

-

-

××

====

×-×

               : 15 

Ответtмин

=


� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���








[image: image51.wmf]0

l

[image: image52.wmf]l

[image: image53.wmf]2

u

r

[image: image54.wmf]1

u

r

[image: image55.wmf](

)

10

2

12

0

0

0

0

0

0

33

33

()

2

()

2

2

2

1

2

2

2

24105010

600

20,13100,13101

1250

600307,69

0,130,13

 

QCmTT

m

Q

QQQ

m

CmTTQ

m

CmTCmTQ

m

QCmTCmT

QmCTCmT

mQ

CTT

CmCm

Q

TT

CCm

T

K

l

l

l

l

l

l

l

=×-

=

+=

×-+=

×-×+=

--×=-×

æö

-+=-××-

ç÷

èø

æö

+-=

ç÷

××

èø

+-=

×

××

=+-=

××××

=+-=

                                : 307,69

 

ОтветTK

=

[image: image56.wmf](

)

(

)

(

)

(

)

12

1122

1221

1221

12

21

21

21

21

2

                

          22

           2

                          

2

22

222

2

1,8

AA

TFmgTFmg

TgVVgTgVVg

TVgTVg

TT

VgVg

rrrr

rrrr

rrrr

rrrr

rrrr

rr

r

+=+=

¢¢¢

+=+×=×

¢¢¢

=-=-×

=

¢¢¢

-=-×

¢¢¢

-=-

¢¢¢¢

-=-

=

=

3

3

3

3

2

10

                                : 1,810 

кг

м

кг

Ответ

м

r

×

=×

[image: image57.wmf]12

12

2

PP

mgmg

rr

=

=

¢¢¢

=

[image: image58.bmp][image: image59.wmf]r

¢

[image: image60.wmf]r

¢¢

[image: image61.wmf]2

r

[image: image62.wmf]1

r

[image: image63.wmf]2

V

[image: image64.wmf]V

[image: image65.wmf]1

T

r

_1495439319.unknown

_1495439328.unknown

_1495439332.unknown

_1495439334.unknown

_1495439336.unknown

_1495439337.unknown

_1495439338.unknown

_1495439335.unknown

_1495439333.unknown

_1495439330.unknown

_1495439331.unknown

_1495439329.unknown

_1495439324.unknown

_1495439326.unknown

_1495439327.unknown

_1495439325.unknown

_1495439321.unknown

_1495439323.unknown

_1495439322.unknown

_1495439320.unknown

_1495439308.unknown

_1495439315.unknown

_1495439317.unknown

_1495439318.unknown

_1495439316.unknown

_1495439310.unknown

_1495439312.unknown

_1495439314.unknown

_1495439313.unknown

_1495439311.unknown

_1495439309.unknown

_1495439302.unknown

_1495439304.unknown

_1495439306.unknown

_1495439307.unknown

_1495439305.unknown

_1495439303.unknown

_1495439299.unknown

_1495439301.unknown

_1495439300.unknown

_1495439298.unknown

_1495439297.unknown

